

MSC: 30C45

© E. A. Eljamal, M. Darus

**CERTAIN CLASS OF HARMONIC MULTIVALENT FUNCTIONS**

Making use of the generalized derivative operator, we introduce a new subclass of harmonic multivalent functions. We obtain the coefficient bounds, distortion inequalities and inclusion relationships involving the neighborhoods of subclasses of harmonic multivalent functions.

*Keywords:* harmonic multivalent functions, derivative operator, neighborhood.

**§ 1. Introduction**

A continuous complex-valued function  $f = u + iv$  defined in a simply-connected complex domain  $D$  is said to be harmonic in  $D$  if both functions  $u$  and  $v$  are real harmonic in  $D$ . Such functions can be expressed as

$$f = h + \bar{g}, \tag{1}$$

where  $h$  and  $g$  are analytic in  $D$ . We call  $h$  the analytic part and  $g$  the co-analytic part of  $f$ . A necessary and sufficient condition for  $f$  to be locally univalent and sense-preserving in  $D$  is that  $|\bar{h}(z)| > |\bar{g}(z)|$  for all  $z$  in  $D$  (see [1]). Many researcher introduced and studied certain classes of harmonic univalent functions (see [2-8]). For  $p \geq 1, n \in N$ , denote by  $SH(n, p)$  the class of functions of the form (1) that are harmonic multivalent and sense-preserving in the unit disk  $U = \{z : |z| < 1\}$ , where  $h$  and  $g$  are defined by

$$h(z) = z^p + \sum_{k=n+p}^{\infty} a_k z^k, \quad g(z) = \sum_{k=n+p-1}^{\infty} b_k z^k, \quad z \in U, \quad |b_n + p - 1| < 1, \tag{2}$$

which are analytic and multivalent functions in  $U$ .

Now we introduce a generalized derivative operator

$$D_{p,\lambda}^m f^{(q)} = D_{p,\lambda}^m h^{(q)} + (-1)^m \overline{D_{p,\lambda}^m g^{(q)}}.$$

The derivative operator  $D_{p,\lambda}^m f^{(q)}$  of  $p$ -valent functions was introduced and studied by Eljamal and Darus in [9], where

$$D_{p,\lambda}^m h^{(q)} = \frac{p!}{(p-q)!} z^{p-q} + \sum_{k=n+p}^{\infty} \frac{k!}{(k-q)!} \left(\frac{k+\lambda-q}{p+\lambda-q}\right)^m a_k z^{k-q},$$

$$D_{p,\lambda}^m g^{(q)} = \sum_{k=n+p-1}^{\infty} \frac{k!}{(k-q)!} \left(\frac{k+\lambda-q}{p+\lambda-q}\right)^m b_k z^{k-q}, \quad m \in N_0, \quad z \in U.$$

For  $q = \lambda = 0, p = k = 1$ , the differential operator  $D^m f^{(q)}$  was introduced by Salagean [10] for the class  $A$  of analytic functions and modified for the class  $SH(1, 1)$  by Jahangiri et. al [11].

Let

$$F(z) = (1 - \ell)D_{p,\lambda}^m f^{(q)}(z) + \ell D_{p,\lambda}^{m+1} f^{(q)}(z) = H(z) + \overline{G(z)}, \quad f(z) \in SH(n, p), \quad 0 \leq \ell \leq 1,$$

where  $H$  and  $G$  are of the form

$$H(z) = (1 - \ell + \ell(p + \lambda - q)) \frac{(p + \lambda - q)^m}{(p - q)!} p! z^{p-q} +$$

$$+ \sum_{k=n+p}^{\infty} (1 - \ell + \ell(k + \lambda - q)) \frac{(k + \lambda - q)^m}{(k - q)!} k! z^{k-q} a_k z^{k-q}, \tag{3}$$

$$G(z) = (-1)^m \sum_{k=n+p-1}^{\infty} (1 - \ell + \ell(k + \lambda - q)) \frac{(k + \lambda - q)^m}{(k - q)!} k! z^{k-q} b_k z^{k-q}. \tag{4}$$

Also, let  $SH_{p,\lambda}^{m,n}(q, \ell, \alpha)$  denote the subclass of  $SH(n, p)$  consisting of functions  $f$  defined in (1) that satisfy the following condition:

$$\operatorname{Re} \left\{ \frac{zH'(z) - \overline{zG'(z)}}{H(z) + \overline{G(z)}} \right\} > \alpha(p + \lambda - q) \quad (0 \leq \alpha < 1, p > q, p \in N, q \in N_0, z \in U), \tag{5}$$

where  $H(z)$  and  $G(z)$  are given by (3) and (4) respectively.

Denote by  $\overline{SH}(n, p)$  the subclass of  $SH(n, p)$  consisting of harmonic functions  $f_m = h + \overline{g_m}$ , where  $h$  and  $g_m$  are of the form

$$h(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k, \quad g_m(z) = (-1)^m \sum_{k=n+p-1}^{\infty} b_k z^k, \quad b_k \geq 0. \tag{6}$$

Define  $\overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha) = SH_{p,\lambda}^{m,n}(q, \ell, \alpha) \cap \overline{SH}(n, p)$ .

The classes  $SH_{p,\lambda}^{m,n}(q, \ell, \alpha)$  and  $\overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$  include well-known subclasses of  $SH(n, p)$ . For example:

(i)  $SH_{1,0}^{0,1}(0, 0, 0) \equiv SH^*$  is the class of sense-preserving, harmonic univalent functions  $f$  which are starlike in  $U$  (see [12, 13]);

(ii)  $\overline{SH}_{1,0}^{0,1}(0, 0, \alpha) \equiv SH^*(\alpha)$  is the class of sense-preserving, harmonic univalent functions  $f$  which are starlike of order  $\alpha$  in  $U$  (see [14]);

(iii)  $\overline{SH}_{1,0}^{1,1}(0, 0, \alpha) \equiv HK(\alpha)$  is the class of sense-preserving, harmonic univalent functions  $f$  which are convex of order  $\alpha$  in  $U$  (see [12]);

(iv)  $\overline{SH}_{1,p}^{0,1}(0, 0, 0) \equiv SH^*(p)$  is the class of sense-preserving, harmonic multivalent functions which are starlike in  $U$  (see [15]);

(v)  $\overline{SH}_{p,0}^{m,n}(q, \ell, \alpha) \equiv \overline{SH}_p^{m,n}(q, \ell, \alpha)$  is the class of sense-preserving, harmonic multivalent functions in  $U$  (see [16]).

To prove our main results we need the following lemma.

**Lemma 1.** *Let  $f_m = h + \overline{g_m}$  be of the form (6). Then  $f_m \in \overline{SH}(n, p)$  if and only if*

$$\sum_{k=n+p}^{\infty} ka_k + \sum_{k=n+p-1}^{\infty} kb_k \leq p \quad (p \geq 1, n \in N). \tag{7}$$

### § 2. Main Result

We begin deriving a coefficient sufficient condition for the function  $f$  to belong to the class  $SH_{p,\lambda}^{m,n}(q, \ell, \alpha)$ . This result is contained in the following.

**Theorem 1.** Let  $f = h + \bar{g}$  be given by (1). Furthermore, let

$$\sum_{k=n+p}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))}{[(1 - \alpha)(p + \lambda - q) + 1] - |(1 - \alpha)(p + \lambda - q) - 1|} \frac{q_p^m}{q_k^m} |a_k| + \quad (8)$$

$$+ \sum_{k=n+p-1}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))|(1 - \ell - \ell(k + \lambda - q))|}{[(1 - \alpha)(p + \lambda - q) + 1] - |(1 - \alpha)(p + \lambda - q) - 1|} \frac{q_p^m}{q_k^m} |b_k| \leq \frac{1}{2},$$

where  $q_p^m = \frac{(p+\lambda-q)^m}{(p-q)!} p!$ ,  $q_k^m = \frac{(k+\lambda-q)^m}{(k-q)!} k!$ , and  $(0 \leq \alpha < 1, p > q, p \in N, q \in N_0, z \in U)$ . Then  $f$  is sense-preserving, harmonic multivalent functions in  $U$ , and  $f \in SH_{p,\lambda}^{m,n}(q, \ell, \alpha)$ .

**P r o o f.** We first show that if the inequality (8) holds for the coefficients of  $f = h + \bar{g}$ , then the required condition (7) is sense preserving and harmonic multivalent in  $U$ . In view of (5), we need to prove that  $\operatorname{Re}\{w\} > 0$ , where

$$w = \frac{zH'(z) - \overline{zG'(z)} - \alpha(p + \lambda - q)[H(z) + \overline{G(z)}]}{H(z) + \overline{G(z)}} = \frac{A(z)}{B(z)}.$$

By using the fact that  $\operatorname{Re}\{w\} > 0 \Leftrightarrow |1 + w| > |1 - w|$ , it suffices to show that  $|A(z) + B(z)| - |A(z) - B(z)| > 0$ , therefore we obtain  $|A(z) + B(z)| - |A(z) - B(z)| \geq$

$$\begin{aligned} &\geq [((1 - \alpha)(p + \lambda - q) + 1) - |(1 - \alpha)(p + \lambda - q) - 1|](1 - \ell + \ell(p + \lambda - q))q_p^m |z|^{p-q} - \\ &\quad - \sum_{k=n+p}^{\infty} 2(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))q_k^m |a_k| |z|^{k-q} - \\ &\quad - \sum_{k=n+p}^{\infty} 2(k + \lambda - q - \alpha(p + \lambda - q))|(1 - \ell + \ell(k + \lambda - q))|q_k^m |b_k| |z|^{k-q} > \\ &> [((1 - \alpha)(p + \lambda - q) + 1) - |(1 - \alpha)(p + \lambda - q) - 1|](1 - \ell + \ell(p + \lambda - q))q_p^m |z|^{p-q} \times \\ &\times \left\{ 1 - \sum_{k=n+p}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))}{[(1 - \alpha)(p + \lambda - q) + 1] - |(1 - \alpha)(p + \lambda - q) - 1|} \frac{q_k^m}{q_p^m} |a_k| - \right. \\ &\quad \left. - \sum_{k=n+p}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))}{[(1 - \alpha)(p + \lambda - q) + 1] - |(1 - \alpha)(p + \lambda - q) - 1|} \frac{q_k^m}{q_p^m} |b_k| \right\}. \quad \square \end{aligned}$$

**Theorem 2.** Let  $f_m = h + \bar{g}_m$  be given by (6). Also, suppose that  $\lambda < \frac{1}{n + p + \lambda - q}$  and  $\alpha \geq 1 - \frac{1}{p + \lambda - q}$ . Then  $f_m \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$  if and only if

$$\sum_{k=n+p}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))}{(1 - \ell + \ell(p + \lambda - q))} \frac{q_k^m}{q_p^m} |a_k| +$$

$$+ \sum_{k=n+p-1}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell - \ell(k + \lambda - q))}{(1 - \ell + \ell(p + \lambda - q))} \frac{q_k^m}{q_p^m} |b_k| \leq 1. \quad (9)$$

P r o o f. Since  $\overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha) \subset SH_{p,\lambda}^{m,n}(q, \ell, \alpha)$ , we only need to prove the necessary part of the theorem. Assume that  $f_m \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$ , then by virtue of (8) and (7), we obtain

$$\operatorname{Re} \left\{ \frac{(1-\alpha)(p+\lambda-q)z^{p-q} - \sum_{k=n+p}^{\infty} (k+\lambda-q-\alpha(p+\lambda-q)) \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} a_k z^{k-q}}{z^{p-q} - \sum_{k=n+p}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} a_k z^{k-q} + (-1)^{2m} \sum_{k=n+p-1}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} b_k \overline{z^{k-q}}} \times \right. \\ \left. \times \frac{-(-1)^{2m} \sum_{k=n+p-1}^{\infty} (k+\lambda-q+\alpha(p+\lambda-q)) \frac{(1-\ell+\ell(k+\lambda-q)) q_k^{m+1}}{(1-\ell+\ell(p+\lambda-q)) q_p^{m+1}} b_k \overline{z^{k-q}}}{z^{p-q} - \sum_{k=n+p}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} a_k z^{k-q} + (-1)^{2m} \sum_{k=n+p}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} b_k \overline{z^{k-q}}} \right\} \geq 0. \quad (10)$$

The above condition must hold for all values of  $z$ ,  $|z| = r < 1$ . Upon choosing the values of  $z$  on the positive real axis where  $0 \leq z = r < 1$  we have

$$\frac{(1-\alpha)(p+\lambda-q) - \sum_{k=n+p}^{\infty} (k+\lambda-q-\alpha(p+\lambda-q)) \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} a_k r^{k-q}}{1 - \sum_{k=n+p}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} a_k r^{k-p} + \sum_{k=n+p-1}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} b_k r^{k-p}} \times \\ \times \frac{-\sum_{k=n+p-1}^{\infty} (k+\lambda-q-\alpha(p+\lambda-q)) \frac{(1-\ell+\ell(k+\lambda-q)) q_k^{m+1}}{(1-\ell+\ell(p+\lambda-q)) q_p^{m+1}} b_k r^{k-q}}{1 - \sum_{k=n+p}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} a_k r^{k-q} + \sum_{k=n+p-1}^{\infty} \frac{(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(p+\lambda-q)) q_p^m} b_k r^{k-q}} \geq 0. \quad (11)$$

If (9) does not hold, then the numerator in (11) is negative for  $r$  sufficiently close to 1. Therefore, there exists a point  $z_0 = r_0$  in  $(0, 1)$  for which the quotient in (11) is negative. This contradicts our assumption that  $f_m \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$ . We thus conclude that it is both necessary and sufficient that the coefficient bound inequality (9) holds true when  $f_m \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$ .  $\square$

**Theorem 3.** *The class  $\overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$  is closed under convex combinations.*

P r o o f. Let  $\ell < \frac{1}{p+\lambda-q}$ ,  $\alpha \geq 1 - \frac{1}{p+\lambda-q}$  and  $f_{mi} \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$  for  $i = 1, 2, \dots$ , where  $f_{mi}$  is given by

$$f_{mi}(z) = z^p - \sum_{k=n+p}^{\infty} a_{ki} z^k + (-1)^m \sum_{k=n+p-1}^{\infty} b_{ki} \overline{z^k}.$$

Then by (9),

$$\sum_{k=n+p}^{\infty} \frac{(k+\lambda-q-\alpha(p+\lambda-q))(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(k+\lambda-q)) q_p^m} a_{ki} + \\ + \sum_{k=n+p-1}^{\infty} \frac{(k+\lambda-q-\alpha(p+\lambda-q))(1-\ell-\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(k+\lambda-q)) q_p^m} b_{ki} \leq (1-\alpha(p+\lambda-q)). \quad (12)$$

For  $\sum_{i=1}^{\infty} t_i$ ,  $0 \leq t_i \leq 1$ , the convex combination of  $f_{mi}$  may be written as

$$\sum_{i=1}^{\infty} t_i f_{mi}(z) = z^p - \sum_{k=n+p}^{\infty} \left( \sum_{i=1}^{\infty} t_i a_{ki} \right) z^k + (-1)^m \sum_{k=n+p-1}^{\infty} \left( \sum_{i=1}^{\infty} t_i b_{ki} \right) \overline{z^k}.$$

Then by (12),

$$\sum_{k=n+p}^{\infty} \frac{(k+\lambda-q-\alpha(p+\lambda-q))(1-\ell+\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(k+\lambda-q)) q_p^m} \left( \sum_{i=1}^{\infty} t_i a_{ki} \right) + \\ + \sum_{k=n+p-1}^{\infty} \frac{(k+\lambda-q-\alpha(p+\lambda-q))(1-\ell-\ell(k+\lambda-q)) q_k^m}{(1-\ell+\ell(k+\lambda-q)) q_p^m} \left( \sum_{i=1}^{\infty} t_i b_{ki} \right) =$$

$$\begin{aligned}
 &= \sum_{i=1}^{\infty} t_i \left\{ \sum_{k=n+p}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))}{(1 - \ell + \ell(k + \lambda - q))} \frac{q_k^m}{q_p^m} a_{ki} + \right. \\
 &+ \left. \sum_{k=n+p-1}^{\infty} \frac{(k + \lambda - q - \alpha(p + \lambda - q))(1 - \ell - \ell(k + \lambda - q))}{(1 - \ell + \ell(k + \lambda - q))} \frac{q_k^m}{q_p^m} b_{ki} \right\} \leq \\
 &\leq (1 - \alpha)(p + \lambda - q) \sum_{i=1}^{\infty} t_i = (1 - \alpha)(p + \lambda - q).
 \end{aligned}$$

This is the condition required by (10) so  $\sum_{i=1}^{\infty} t_i f_{mi}(z) \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$ . □

**Theorem 4.** Let  $\ell < \frac{1}{p + \lambda - q}$  and  $\alpha_1 \geq 1 - \frac{1}{p + \lambda - q}$ . For  $\alpha_1 < \alpha_2$ ,

$$\overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha_2) \subset \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha_1).$$

**P r o o f.** Let  $\ell < \frac{1}{p + \lambda - q}$ ,  $\alpha_1 \geq 1 - \frac{1}{p + \lambda - q}$ , and  $f_m(z) \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha_2)$ .

$$\begin{aligned}
 &\sum_{k=n+p}^{\infty} \frac{(k + \lambda - q - \alpha_1(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))}{(1 - \ell + \ell(k + \lambda - q))(1 - \alpha_1)} \frac{q_k^m}{q_p^{m+1}} |a_k| + \\
 &+ \sum_{k=n+p-1}^{\infty} \frac{(k + \lambda - q - \alpha_1(p + \lambda - q))(1 - \ell - \ell(k + \lambda - q))}{(1 - \ell + \ell(k + \lambda - q))(1 - \alpha_1)} \frac{q_k^m}{q_p^{m+1}} |b_k| \leq \\
 &\leq \sum_{k=n+p}^{\infty} \frac{(k + \lambda - q - \alpha_2(p + \lambda - q))(1 - \ell + \ell(k + \lambda - q))}{(1 - \ell + \ell(k + \lambda - q))(1 - \alpha_2)} \frac{q_k^m}{q_p^{m+1}} |a_k| + \\
 &+ \sum_{k=n+p-1}^{\infty} \frac{(k + \lambda - q - \alpha_2(p + \lambda - q))(1 - \ell - \ell(k + \lambda - q))}{(1 - \ell + \ell(k + \lambda - q))(1 - \alpha_2)} \frac{q_k^m}{q_p^{m+1}} |b_k| \leq 1,
 \end{aligned}$$

then  $f_m(z) \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha_1)$ . □

Following Goodman [17] and Ruscheweyh [18] we refer to the neighborhood of  $f = h + \bar{g} \in \overline{SH}(n, p)$ ,

$$\begin{aligned}
 &N_{n,p,\lambda}^{\delta}(f_m^{(q)}, g_m^{(q)}) = \{g_m \in \overline{SH}(n, p) : \\
 &g_m(z) = z^p - \sum_{k=n+p}^{\infty} A_k z^k + (-1)^m \sum_{k=n+p-1}^{\infty} B_k \bar{z}^k, A_k, B_k \geq 0, B_{n+p-1} < 1, \text{ and} \quad (13) \\
 &\sum_{k=n+p}^{\infty} \frac{k!}{(k + \lambda - q)!} k(|a_k - A_k| + |b_k - B_k|) + \frac{(n + p - 1)!(n + p - 1)}{(n + p - 1 + \lambda - q)!} |b_{n+p-1} - B_{n+p-1}| \leq \delta, \delta > 0\}.
 \end{aligned}$$

In particular, for the function  $h(z) = z^p$  we have

$$\begin{aligned}
 &N_{n,p,\lambda}^{\delta}(h^{(q)}, g_m^{(q)}) = \{g_m \in \overline{SH}(n, p) : \\
 &g_m(z) = z^p - \sum_{k=n+p}^{\infty} A_k z^k + (-1)^m \sum_{k=n+p-1}^{\infty} B_k \bar{z}^k, A_k, B_k \geq 0, B_{n+p-1} < 1, \text{ and} \quad (14) \\
 &\sum_{k=n+p}^{\infty} \frac{k!}{(k - q)!} k(A_k + B_k) + \frac{(n + p - 1)!(n + p - 1)}{(n + p - 1 - q)!} |B_{n+p-1}| \leq \delta, \delta > 0\}.
 \end{aligned}$$

**Theorem 5.** Let  $\ell < \frac{1}{p + \lambda - q}$  and  $\alpha \geq 1 - \frac{1}{p + \lambda - q}$ . If  $g_m \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$ , then

$$\overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha) \subset N_{n,p,\lambda}^\delta(h^{(q)}, g_m^{(q)}),$$

where  $h(z)$  and  $g_m(z)$  are given by (14),

$$\begin{aligned} \delta = & \frac{(n+p)(1-\alpha)(p+\lambda-q)}{(n+(1-\alpha)(p+\lambda-q))\psi} - \\ & - \left( \frac{(n+p)(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-1-q))}{(n+(1-\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-q))(n+p+\lambda-q)^m} - \right. \\ & \left. - \frac{(n+p-1)!(n+p-1)}{(n+p-1-q)!} \right) B_{n+p-1}, \end{aligned}$$

and

$$\psi = \left( \frac{(1-\ell-\ell(n+p+\lambda-q))(n+p+\lambda-q)^m}{((1-\ell)+\ell(p+\lambda-q))q_{n+p-1}^m} \right),$$

where  $q_{n+p-1}^m = \frac{(p+\lambda-q)^m}{(n+p-1-q)!}(n+p-1)!$ .

**P r o o f.** Let  $f_m \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$ . We need to show that  $g_m(z) \in N_{n,p,\lambda}^\delta(h^{(q)}, g_m^{(q)})$ . It suffices to show that  $g_m$  satisfies the condition (14). In view of Theorem 2, we have

$$\begin{aligned} & \psi \left[ \sum_{k=n+p}^\infty (k+\lambda-q-\alpha(p+\lambda-q)) \frac{k!}{(k-q)!} A_k + \sum_{k=n+p}^\infty (k+\lambda-q-\alpha(p+\lambda-q)) \frac{k!}{(k-q)!} B_k \right] \leq \\ & \leq (1-\alpha)(p+\lambda-q) - \frac{(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-1-q))q_{n+p-1}^m}{((1-\ell)+\ell(p+\lambda-q))q_p^m} B_{n+p-1}. \end{aligned}$$

Then

$$\begin{aligned} & \sum_{k=n+p}^\infty \left( \frac{k!}{(k-q)!} k \right) (A_k + B_k) \leq \frac{(1-\alpha)(p+\lambda-q)}{\psi} - \\ & - \frac{(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-1-q))q_{n+p-1}^m}{\psi((1-\ell)+\ell(p+\lambda-q))q_p^m} B_{n+p-1} + \\ & + (q+\alpha(p+\lambda-q)) \sum_{k=n+p}^\infty \frac{k!}{(k-q)!} k(A_k + B_k) \leq \frac{(1-\alpha)(p+\lambda-q)}{\psi} - \\ & - \frac{(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-1-q))q_{n+p-1}^m}{\psi((1-\ell)-\ell(p+\lambda-q))(n+p+\lambda-q)^m} B_{n+p-1} + \\ & + \frac{(q+\alpha(p+\lambda-q))}{n+p} \sum_{k=n+p}^\infty \frac{k!}{(k-q)!} k(A_k + B_k), \end{aligned}$$

so that,

$$\begin{aligned} & \sum_{k=n+p}^\infty \frac{k!}{(k-q)!} k(A_k + B_k) \leq \frac{(n+p)(1-\alpha)(p+\lambda-q)}{\psi(n+((1-\alpha)(p+\lambda-q)))} - \\ & - \frac{(n+p)(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-1-q))q_{n+p-1}^m}{(n+(1-\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-q))(n+p+\lambda-q)^m} B_{n+p-1} = \\ & = \delta - \frac{(n+p-1)!(n+p-1)}{(n+p-1-q)!} B_{n+p-1}, \end{aligned}$$

which, in view of definition (14), completes the proof. □

**Theorem 6.** Let  $\ell < \frac{1}{p + \lambda - q}$  and  $\alpha \geq 1 - \frac{1}{p + \lambda - q}$ . If  $g_m \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$ , then

$$N_{n,p,\lambda}^\delta(h^{(q)}, g_m^{(q)}) \subset SH^*(n, p),$$

where  $h(z)$  and  $g_m(z)$  are given by (14),

$$\begin{aligned} \delta \leq & \frac{(n+p-1)!}{(n+p-1-q)!} p - \chi(1-\alpha)(p-q) + \\ & + \left( \frac{(n+p-q)!(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell)(n+p+\lambda-1-q)q_{n+p-1}^m}{(n+(1-\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-q))(n+p+\lambda-q)^m(n+p-1)!} - \right. \\ & \left. - (n+p-1) \right) b_{n+p-1}, \end{aligned}$$

and

$$\chi = \frac{(1-\ell+\ell(n+p+\lambda-q))(n+p-q)!q_p^m}{((1-\ell)-\ell(p+\lambda-q))(n+p+\lambda-q)^m(n+p-1)!}.$$

**P r o o f.** Suppose that  $f_m(z) \in \overline{SH}_{p,\lambda}^{m,n}(q, \ell, \alpha)$  and  $g_m(z) \in N_{n,p,\lambda}^\delta(h^{(q)}, g_m^{(q)})$ . We need to show that  $g_m$  satisfies the condition (7). We have

$$\begin{aligned} \sum_{k=n+p}^{\infty} k(A_k + B_k) + (n+p-1)B_{n+p-1} & \leq \sum_{k=n+p}^{\infty} k[|a_k - A_k| + |b_k - B_k|] + (n+p-1)|b_{n+p-1} - B_{n+p-1}| + \\ & + \sum_{k=n+p}^{\infty} k(a_k + b_k) + (n+p-1)b_{n+p-1} \leq \\ & \leq \frac{(n+p-1-q)!}{(n+p-1)!} \left[ \sum_{k=n+p}^{\infty} \frac{k!}{(k-q)!} k[|a_k - A_k| + |b_k - B_k|] + \right. \\ & \left. + \frac{(n+p-1)!(n+p-1)}{(n+p-1-q)!|b_{n+p-1} - B_{n+p-1}|} \right] + (n+p-1)b_{n+p-1} \\ & \chi \left( \sum_{k=n+p}^{\infty} \left( \frac{(k+\lambda-q-\alpha(p+\lambda-q))(1-\ell+\ell(k+\lambda-q))\frac{q_k^m}{q_p^m} a_k}{(1-\ell+\ell(p+\lambda-q))} + \right. \right. \\ & \left. \left. + \frac{(k+\lambda-q-\alpha(p+\lambda-q))(1-\ell-\ell(k+\lambda-q))\frac{q_k^m}{q_p^m} b_k}{(1-\ell+\ell(p+\lambda-q))} \right) \right) \leq \\ & \leq \frac{(n+p-1-q)!}{(n+p-1)!} \delta + (n+p-1)b_{n+p-1} + \\ & + \chi \left( (1-\alpha)(p+\lambda-q) - \frac{(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell(n+p-1+\lambda-q))}{(1-\ell+\ell(p+\lambda-q))q_p^m} \frac{q_{n+p-1}^m}{q_p^m} b_{n+p-1} \right). \end{aligned}$$

This expression is never greater than  $p$  provided that

$$\begin{aligned} \delta \leq & \frac{(n+p-1)!}{(n+p-1-q)!} \left[ p - \chi(1-\alpha)(p-q) + \right. \\ & + \frac{(n+p-q)!(n-1+(1+\alpha)(p+\lambda-q))(1-\ell-\ell(n+p-1+\lambda-q))q_{n+p-1}^m}{(n+(1-\alpha)(p+\lambda-q))(1-\ell-\ell(n+p+\lambda-q))(n+p+\lambda-q)^m(n+p-1)!} - \\ & \left. - (n+p-1)b_{n+p-1} \right]. \end{aligned}$$

The proof of the other case is similar and so is omitted.  $\square$

**Remarks.** Different type of results involving the harmonic functions can be read in [2–8].

**Acknowledgement.** The work here was supported by ERGS/1/2013/STG06/UKM/01/2.

## REFERENCES

1. Clunie J., Sheil-Small T. Harmonic univalent functions, *Ann. Acad. Sci. Fenn., Ser. A I, Math.*, 1984, vol. 9, pp. 3–25.
2. Eljamal E.A., Darus M. A subclass of harmonic univalent functions with varying arguments defined by generalized derivative operator, *Advance in Decision Sciences*, 2012, vol. 2012, Article ID 610406, 8 p. <http://dx.doi.org/10.1155/2012/610406>
3. Eljamal E.A., Darus M. Some properties of complex harmonic mapping, *ISRN Applied Mathematics*, 2012, vol. 2012, Article ID 587689, 6 p. <http://dx.doi.org/10.5402/2012/587689>
4. Al-Shaqsi K., Darus M. On certain class of harmonic univalent functions, *Int. J. Contemp. Math. Sci.*, 2009, vol. 4, no. 24, pp. 1193–1207.
5. Al-Shaqsi K., Darus M. On harmonic univalent functions with respect to  $k$ -symmetric points, *Int. J. Contemp. Math. Sci.*, 2008, vol. 3, no. 3, pp. 111–118.
6. Al-Shaqsi K., Darus M. On harmonic functions defined by derivative operator, *Journal of Inequalities and Applications*, 2008, vol. 2008, Article ID 263413, 10 p. <http://www.journalofinequalitiesandapplications.com/content/2008/1/263413>
7. Darus M., Al-Shaqsi K. On harmonic univalent functions defined by a generalised Ruscheweyh derivatives operator, *Lobachevskii Journal of Mathematics*, 2006, vol. 22, pp. 19–26.
8. Al-Shaqsi K., Darus M. On a subclass of certain harmonic meromorphic functions, *Far East Journal of Mathematical Sciences*, 2006, vol. 20, issue 2, pp. 207–218.
9. Eljamal E.A., Darus M. Inclusion properties for certain subclasses of  $p$ -valent functions associated with new generalized derivative operator, *Vladikavkaz. Mat. Zh.*, 2013, vol. 15, no. 2, pp. 27–34.
10. Salagean G.S. Subclass of univalent functions, *Lecture Notes in Math.*, Berlin–Heidelberg–New York: Springer-Verlag, 1983, vol. 1013, pp. 362–372.
11. Jahangiri J.M., Murugusundaramoorthy G., Vijaya K. Salagean-type harmonic univalent functions, *Southwest J. Pure Appl. Math.*, 2002, issue 2, pp. 77–82.
12. Silverman H. Harmonic univalent functions with negative coefficients, *J. Math. Anal. Appl.*, 1998, vol. 220, issue 1, pp. 283–289.
13. Silverman H., Silvia E.M. Subclasses of harmonic univalent functions, *New Zealand J. Math.*, 1999, vol. 28, no. 2, pp. 275–284.
14. Jahangiri J.M. Harmonic functions starlike in the unit disk, *J. Math. Anal. Appl.*, 1999, vol. 235, no. 2, pp. 470–477.
15. Ahuja O.P., Jahangiri J.M. Multivalent harmonic starlike functions, *Ann. Univ. Mariae Curie-Sklodowska, Sect. A*, 2001, vol. 55, pp. 1–13.
16. Yasar E., Yalcin S. Neighborhood of a new class of harmonic multivalent functions, *Computers and Mathematics with Applications*, 2011, vol. 62, no. 1, pp. 462–473.
17. Goodman A.W. Univalent functions and non-analytic curves, *Proc. Amer. Math. Soc.*, 1957, vol. 8, no. 3, pp. 598–601.
18. Ruscheweyh S. Neighborhoods of univalent functions, *Proc. Amer. Math. Soc.*, 1981, vol. 81, no. 4, pp. 521–527.

Received 29.04.2015

Eljamal Ebtisam Ali, Department of Mathematics, Faculty of Science, Al Mergeb University, Khoms, Libya.  
E-mail: ebtisameljamal@yahoo.com

Darus Maslina, School of Mathematical Sciences, Faculty of Science and Technology, Universiti Kebangsaan Malaysia, Selangor D. Ehsan, Bangi, 43600, Malaysia.  
E-mail: maslina@ukm.edu.my

**Э. А. Эльджамал, М. Дарус**

**Об одном классе гармонических многолистных функций**

*Ключевые слова:* гармонические многолистные функции, оператор производной, окрестность.

УДК 517.53



С помощью обобщенного оператора производной вводится новый подкласс в классе гармонических многолистных функций. Установлены оценки на коэффициенты, неравенства искажения и включения с окрестностями для различных подклассов в классе гармонических многолистных функций.

## СПИСОК ЛИТЕРАТУРЫ

1. Clunie J., Sheil-Small T. Harmonic univalent functions // *Ann. Acad. Sci. Fenn. Ser. A I. Math.* 1984. Vol. 9. P. 3–25.
2. Eljamal E.A., Darus M. A subclass of harmonic univalent functions with varying arguments defined by generalized derivative operator // *Advance in Decision Sciences.* 2012. Vol. 2012. Article ID 610406. 8 p. <http://dx.doi.org/10.1155/2012/610406>
3. Eljamal E.A., Darus M. Some properties of complex harmonic mapping // *ISRN Applied Mathematics.* 2012. Vol. 2012. Article ID 587689. 6 p. <http://dx.doi.org/10.5402/2012/587689>
4. Al-Shaqsi K., Darus M. On certain class of harmonic univalent functions // *Int. J. Contemp. Math. Sci.* 2009. Vol. 4. № 24. P. 1193–1207.
5. Al-Shaqsi K., Darus M. On harmonic univalent functions with respect to  $k$ -symmetric points // *Int. J. Contemp. Math. Sci.* 2008. Vol. 3. № 3. P. 111–118.
6. Al-Shaqsi K., Darus M. On harmonic functions defined by derivative operator // *Journal of Inequalities and Applications.* 2008. Vol. 2008. Article ID 263413. 10 p. <http://www.journalofinequalitiesandapplications.com/content/2008/1/263413>
7. Darus M., Al-Shaqsi K. On harmonic univalent functions defined by a generalised Ruscheweyh derivatives operator // *Lobachevskii Journal of Mathematics.* 2006. Vol. 22. P. 19–26.
8. Al-Shaqsi K., Darus M. On a subclass of certain harmonic meromorphic functions // *Far East Journal of Mathematical Sciences.* 2006. Vol. 20. Issue 2. P. 207–218.
9. Eljamal E.A., Darus M. Inclusion properties for certain subclasses of  $p$ -valent functions associated with new generalized derivative operator // *Владикавказский математический журнал.* 2013. Т. 15. № 2. С. 27–34.
10. Salagean G.S. Subclass of univalent functions // *Lecture Notes in Math.* Berlin–Heidelberg–New York: Springer-Verlag, 1983. Vol. 1013. P. 362–372.
11. Jahangiri J.M., Murugusundaramoorthy G., Vijaya K. Salagean-type harmonic univalent functions // *Southwest J. Pure Appl. Math.* 2002. Issue 2. P. 77–82.
12. Silverman H. Harmonic univalent functions with negative coefficients // *J. Math. Anal. Appl.* 1998. Vol. 220. Issue 1. P. 283–289.
13. Silverman H., Silvia E.M. Subclasses of harmonic univalent functions // *New Zealand J. Math.* 1999. Vol. 28. № 2. P. 275–284.
14. Jahangiri J.M. Harmonic functions starlike in the unit disk // *J. Math. Anal. Appl.* 1999. Vol. 235. № 2. P. 470–477.
15. Ahuja O.P., Jahangiri J.M. Multivalent harmonic starlike functions // *Ann. Univ. Mariae Curie-Skłodowska. Sect. A.* 2001. Vol. 55. P. 1–13.
16. Yasar E., Yalcin S. Neighborhood of a new class of harmonic multivalent functions // *Computers and Mathematics with Applications.* 2011. Vol. 62. № 1. P. 462–473.
17. Goodman A.W. Univalent functions and non-analytic curves // *Proc. Amer. Math. Soc.* 1957. Vol. 8. № 3. P. 598–601.
18. Ruscheweyh S. Neighborhoods of univalent functions // *Proc. Amer. Math. Soc.* 1981. Vol. 81. № 4. P. 521–527.

Поступила в редакцию 29.04.2015

Эльджамал Эбтисам Али, Эль Маргаб университет, Хомс, Ливия.  
E-mail: ebtisameljamal@yahoo.com

Дарус Маслина, Национальный университет Малайзии, Селангор, Банги, 43600, Малайзия.  
E-mail: maslina@ukm.edu.my